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General Awareness

1. The resolution on the Non-Co-operation Movement was passed by the Indian
National Congress in

a) 1919 b) 1918 c) 1920 d) 1921
2. What is the meaning of the word Tepe in the name of Tantia Tope ?

a) Commanding Officer b) Topi (Hat)

¢) Itis only part of Tantia's name d) None

3. The brand name of high speed train introduced recently
a) Shatabdi b) Sampark Kranti  ¢) Vande Bharat d) Bullet

4.  Jim Corbett National Park is situated in
a) Madhya Pradesh b) Himachal Pradesh c¢) Arunachal Pradesh d) Uttarakhand

5. How many times has the Indian Consitution been amended so far ?

a) 104 b) 95 c) 105 d) 106
6. What is the term of office of the Vice-President?
a) 5 yrs. b) 3 yrs. c) 6 yrs. d) 4 yrs.

7. Which is the host country for common Wealth games 2022
a) UK (England) b) USA ¢) India d) China

8.  The famous C.K. Naidu Trophy is associated with
a) Badminton b) Hockey ¢) Lawn Tennis d) Cricket

9.  Who was the painter of the famous painting called 'Bharatmata’ ?
a) Abanindranath Tagore b) Yamini Roy ¢) Nand Lal Bose d) Ravi Verma

10. Where is Swami Narayan Temple 'Akshardham’ located ?

a) Mathura, U.P. b) Puri, Odisha
¢) Indore, Madhya Pradesh d) Gandhinagar, Gujarat

11. Which of the following is not associated with UNO (United Nations Organisation) ?
a) ILO b) WHO c¢) Security Council d) ASEAN
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A SISl

AHEAN A T I WA TF FRE 30 ——— § 91 Fean s o1 |

a) 1919 b) 1918 ¢) 1920
2. Qi A4 F AW H 29 T oA w2

a) FHIE FER b) &t (&)

c) ¥8 T % 99 1 %99 % REn & d) 9 195
3. =% € H U fi W T W 39 w1 5 ™

a) Tarsal b) % Hifey ¢) 33 9RA
4. 5@ FleeTgTe % w5 fm ¥

a) ALY UeW b) fewree wem ¢) AT T
5. I 9% WA S # feadh aw weiem fe wn d

a) 104 b) 95 ¢) 105
6. SUUFU FT TS FHa- ST &2

a) 5 a¥ b) 3 a9 ) 6 I
7. A 999 9 2022 ¥ T dwEE A e W B

a) foreq @) b) €IF A FANGH ¢) IRa
8. uieg Wi, wig IR FEr @ @ b

a) iz b) BT ¢) B g
9. ANGHIET AWE WEg B w1 Rowr w1 9 2

a) AFASAY ST b) A T ¢) 7T B 9|
10. TR TREV HiE AR FE € 2

a) YA, .01, b) T¥, sfezm ¢) TIR, WA 7™
11, Fafofem # & =/ w1 g Ty 99 e | wer 99 3

a) L0 b) WHO ¢) G IEg
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d) 1921

d) ge

d) ITaEE

d) 106

d) 4 74

d) ==

d) Frse

d) ¥ T\

d) MR, T
d) ASEAN

Page 3 of 24



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Which is the Head Quarters of Small Industries Development Bank of India
(SIDBI)?

a) Allahabad b) Lucknow ¢) Varanasi d) Kanpur

During which month Chandrayan-3 will be launched as announced by the ISRO ?
a) July 2023 b) August 2023 ¢) September 2023  d) December 2023

Which one of the following difficulties occur in rural area for continuing Secondary
Education of girls ?

a) Parents do not like co-education b) Poverty of Parents
¢) Help of girls in Household work d) All above

National Education Policy 2020 lays emphasis on

a) Learning for examinations b) Rote learning
¢) Practice and drill d) Conceptual understanding

What is the full form of DIKSHA as per NEP 2020 ?

a) Digital Initiative for Knowledge sharing

b) Digital Infrastructure for knowledge sharing
¢) Digital Infrastructure for knowledge system
d) None

Capital of Bhutan
a) Thimphu b) Kathmandu c) Colombo d) Peshawar

Which one is NOT the entrance of New Parliament House

a) Jnana Dwar b) Shakti Dwar ¢) Karma Dwar d) Veer Dwar

MSRVVP is a/an
a) Autonomous Body b) Central University c) State University d) None

Sri Venkateswara Vedic University is situated in

a) TIrumala b) Tirupati ¢) Hyderabad d) Telangana

Nobel Prize is awarded in

a) Literature, Peace and Economics b) Physics and Chemistry
¢) Physiology or Medicine d) All above

In which season do we need more fat ?

a) spring b) winter ¢) summer d) All

Golden Temple Amritsar is a symbol of

a) war b) peace
¢) brotherhood and equality d) None
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

I %Y 39 Bem d% (Red) -1 9w wm T ¥

a) TSEMEE b) FTETS ¢) ATOTE d) FER
TH N T g -3 F ReE WEH ¥ SN S fREa1 S 2
a) IO 2023 b) WA 2023 ¢) f&aeR 2023 d) fTEs 2023

greAl 61 ArAtHF e $1 S T % fou arfor 86 # Frafefaa § @ 39 & shaea
Gl

a) Ha-fUar we-fen qdg 1 TE F9 = b) ATy T T

¢) X % ®M H IShHAl i ey d) SUUw o

T e it 2020 § few wAR R R 2

a) TOENl % o €@ b) W = G o) g AR fgw d) SO augm

TAEd 2020 ¥ GHN DIKSHA F1 0 =9 F41 &2

a) W 9 F1 % fou fShee we (Digital Initiative for knowledge Sharing)

b) I 4= w44 % fow fefoee ﬂﬁ'ﬂ'lﬁ GEll (Digital Infrastructure for knowledge Sharing)
¢) IM YUl % o fefses EERIERSE! (Digital Initiative for knowledge System)
d) B | TE

W Fr ayE
a) foreg b) WeHg ) FHFHEl d) 9T
1 W T HHT WA HT I IR S E 2

a) I gR b) =+ sX c) FH gR d) 9 g1

T A Wi et e o ————— 2 |

a) TENAE 039 b) ¥ FufrEmea o v Rl @ #6896
o ey ¥few Pafros o 3 |

a) fereme b) forufy # ¢) EEqER H d) TS H

e RN 6 Al %1 v fean s ¥

a) AIEea, i T 7= b) Wit fBEE iR e fagm
¢) MhiSEretst a7 afefaq d) U Gt

w fFe dmm § ot I 1 omamasar o B

a) T9qd b) 9l c) THI d) @i

U I, TITER FEF TE 22
a) I8 b) wmifd
¢) WIEERT R FHEAT NECEIKL]
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Samatha Moorthi, Hyderabad is the

a) Second tallest sitting statue in the world ~ b) First tallest sitting statue in the world
¢) Third tallest sitting statue in the world d) None

The first Indian Biological Data Centre (IBDC) was inaugurated at ............
a) Hyderabad (Telangana) b) Bengaluru (Karnataka)
¢) Ahmedabad (Gujarat) d) Faridabad (Haryana)

Numerical Ability

85% of % of E of é of ? =50% of 250
5 17 6
a) 250 b) 1250 ¢) 500 d) 125
964x525+6.75x8="?
a) 106.61 b) 105.61 ¢)111.78 d) 104.61
[43x21}—21=?
3 7 8
7 1 1
a) 1— b) 7— c) 8— d) None
) g ) 2 ) = )

The product of two numbers is 19712 and their HCF is 16. Find the numbers

a) 112,176 b) 211, 671 ¢) 197,12 d) 19,712

Find the smallest number, which on adding 17 to it, is exactly divisible by 32, 48 and 72
a) 127 b) 271 c) 32 d) 72

A man spends Rs. 1870 for buying bedsheets at Rs. 200/- each # and pillows at Rs.
70/- each. What will be the ratio of bedsheets to pillows, when the maximum
number of bedsheets are bought ?

a)3:8 b)8:3 ¢)9:1 d)1:9

A circular glass lawn of 35 meters in radius has a path 7 meters wide running
around it outside. Find the area of the path.

2) 1694 m2 b) 1700 m? ¢) 1598 m? d) 1500 m?

Satish saves 10% of his salary. Of the remaining salary 1/3rd and 1/2nd he gives to
his mother and sister respectively. Balance salary he pays as EMI for his car. His
annual EMI for car is Rs. 50,000/-. Find out his monthly salary.

a) 33,000 b) 27,000 ¢) 32,000 d) 27,800
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24.

25.

26 .

27.

28.

29.

30.

31.

32.

33.

HHAT Tfd, FaaTe

a) I 1 S0 TG S S A AR 2 b) g v wed S day A gt
O T A T TR SR A R R @) =

UES WA ST 220 ¥F (IBDC) T STI2A Fa F6A1 T2 412

a) TWER (TN b) F% (FA12H) ¢) SEHEAER (FE) ) FALEE (@REmm

HEATHE &9l
2 155
85% of 5 of 17 of 6 of ? = 50% of 250
a) 250 b) 1250 c) 500 - d) 125

9.64x 5.25 + 6.75x 8 = ?

a) 106.61 b) 105.61 c) 111.78 d) 104.61
[43le}—zz=?

37771 78

12 7L gL o
a) 8 b) 8 c) 7 d) =IE Tl

A WA F UMES 19712 & IR ITH HCF 16 £ | €& 7 qa1 &

a) 112, 176 b) 211, 671 ) 197, 12 d) 19, 712
TN B WA 9 FM, S THH 17 W W, 32, 48 AN 72 | fegs farea &
a)127 . b) 271 ¢) 32 d) 72

200/- ¥4 F1 | H AW AN 70/- T99 F1 | Y aFpe |y ¥ e =0y 1870 #
T TE @ . WA AfFTH S WG A E, 9 FS2ie SR ateT B S"aE =
FFm?

a)3:8 b) 8§:3 c)9:1 d1:9

35 HicX B 91 wF e FA % o § W 7 wew Hien w oo ww w | gw
FT YTES 19 HIoH |

a) 1694 m? b) 1700 m? ¢) 1598 m? d) 1500 m?

A A9 AT FT 10% T E | [ T4 H ¥ 1/3 v 1/2 ¥ 7 AW o0 o

R FeT B AW | A A T o IR F 5 Swmend ¥ wy # pm wew ¥ w0
¥ fou sadt aiff® fuwend 50,000 To4 ¥ | TwE WRE Fa1 @ R |

a) 33,000 b) 27,000 c) 32,000 d) 27,800
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34. A bread seller marked each bread packet 150% up and allowed 40% discount. He
made a profit of Rs. 30/- per packet. If he reduces discount to 37.5%, then find out
his profit amount on selling 75 bread packets (in rupees)

a) 2,550 b) 2,731.50 ¢) 2,500 d) 2531.25

35. The average weight of 25 students is 16 kg. The average weight of first 12 students
is 14 kg, and that of last 12 students is 17 kg. What is the weight of the 13th student?
a) 29 kg. b) 22 kg. ¢) 28 kg. d) 24 kg.

36. A shopkeeper offers a discount of 20% on the list price, and makes a loss of 16%.
What percent profit or what percent loss will he make if he sells at a discount of
10% of the list price ?

; a) 14% profit b) 20% profit ¢) 50% profit d) 5.5% loss

37. The difference between compound interest and simple interest on Rs. X at 6.5% per
annum for two years is Rs. 33.80. What is the value of X ? (in rupees)

a) 7,800 b) 7,500 ¢) 8,000 d) 8,500

38. Two pipes A and B can fill a tank with water in 15 hours and 12 hours respectively
and a third pipe C can empty it in 4 hours. If the pipes be opened in order at 8 am,
9 am, 11 am respectively, the tank will be emptied at

a) 11.40 am. b) 12.40 a.m. ¢) 1.40 p.m. d) 2.40 p.m.
39. Two trains are running in opposite directions with the same speed. If the length of

each train is 486 m and they cross each other in 27 seconds then what is the speed
(in meters per second) of each train?

a) 55 b) 56.4 c) 64.8 d)73.2
40-42 Total number of visitors and percentage of male out of these visitors is given
District Museum | Total Visitors % of male out of total visitors
’ male and female

. A 250 40%
B 350 44%
C 375 60%
D 450 56%
E 300 55%
F 525 32%

40. Average number of visitors from Districts A, B and C together to see the museum
are approximately what percent of the average number of visitors from Districts
D, E and F together to see the museum ?

a) 71% b) 76% ) 78% d) 74%

41. Find the ratio of male visitors from Districts E and F together to see the museum to
the female visitors from Districts C and D together to see the museum

a) 107 : 117 b)116: 111 c)l1l:116 d) 117 : 107
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34.

35.

36.

37.

38.

39.

T AT AT TF AT P F WA 150% T@T W Rm 3R 40% g2 411 59 9
96T 30/- T F B G0 | A% 7E T FI T2 37.5% L A1 Y T 75 T Frw 3=
T IHH! AT TR @ F (T H)

a) 2,550 ~ b) 2,731.30 ) 2,500 d) 2531.25

25 TTA 1 AGei(average) T 16 53l ¥ | wew 12 B #1 oi\a Tow 14 foal &,
oI oifm 12 S i ol av17 i B 139 sE w m T
a) 29 fFormm b) 22 framm ¢) 28 fFemm d) 24 FFammm

U% THAGN Gl TeF W 20% F1 G T8H Bl 2, 3 ITH 16% F1 I59F &1 2| AR
TE T YA F 10% T FE W I=a1 & A IY frat wfmra o1 a1 fra wfra g9 2o
a) 14% = b) 20% =19 ¢) 50% BT d) 5.5% TFEGA

T a9 F fIT 6.5% T T N W H X’ R W THIG A AR QRO A F AT
A 33.80 T B | X % HE F41 2?2 (FT )

a) 7,800 b) 7,500 ¢) 8,000 d) 8,500

I EW A R B TF TH F O G HHA: 15 0 iR 12 F2 H v g ¥ o dew wEw
C TH 4 W2 H @1 FX 9% ¥ | A T2 F FW: GIE 8 T, 9 Y, 11 T FH § G
ST E, At &% fRaw 99 W @ fEe s

a) 998 11.40 5o b) AEATE 12.40 o5 ¢) TUEX 1.40 I51  d) IUET 2.40 I

31 o HEE T F | el el § e @ ¥ 1 afy 9w 3 6 o 486 wier ¥ sin
9 T I H 27 Fhe { R wh ¥ o v 31 A iy (e wfy dbe ) T 3o
a) 55 b) 56.4 ) 64.8 d) 73.2

40-42 TIgH N TT TEA AN T AIH | T TON F1 A o7 e

40.

41.

&1 g FF ANGH T | T AVGH § T 9 51 A=
R Afg
A 250 40%
B 350 44%
C 375 60%
D 450 56%
E 300 55%
F 525 32%

A #1 @ F o fen A, B @l ¢ ¥ wmigH ) i den, dueea 9 sy ¥
fouw /1 D, E iR F % <Wig#i #1 oieq (average) &1 %1 @3 R whre & 2
a) 71% b) 76% ) 78% d) 74%

Wﬁ%ﬁﬁ%ﬁmﬁmEaﬁiF%ww@aﬁtﬁmcaﬁ?Daﬁﬂﬁmw@ﬁ
FT AIIC TG FSH |

a) 107 : 117 b) 116 : 111 c) 111 : 116 d) 117 : 107
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42. Find the difference between the total number of male visitors from District B, C and
D together to see the museum and the total number of female visitors from Districts
D, E and F together to see the museum

a) 25 b) 75 ¢) 60 d) 59

43 - 45 The line graph shows the number of students who passed in the given year. Study
the diagram and answer the questions.

12000
10000
8000
6000
4000

3500

2000

500

8- :
2010 2011 2012 2013 2014 2015 2016 2017 2018

43. In which year the number of students who passed were more than those who passed
in the previous year?

a) 2016 b) 2015 c) 2014 d) 2013

44. What was the difference in the number of students who passed between 2013 and
2016?
a) 1,000 b) 500 ¢) 1,500 d) 2,000

45. Number of students who passed in 2016 were greater than that in 2017 by ......
percentage
a) 150% b) 100% ¢) 50% d) 200%

Reasoning Ability

46-47 P, Q, R, S, T and X are family members. There are two married couples. Q is
father of T. X is grandfather of R. S is grandmother of T.

46. Who is the husband of P ?
a)R b) X 0)Q d)S

47. Which of the following are two married couples ?
a) XS, QP b) XS, QT ¢) XS, RP d) TS, RX
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42. WEIEA wE@ % fou fet B, ¢ SR D | ©F W1 o omigwi 1 $% @ 0 e
& % fou @1 D, E R F & wiee migH § 3o den ¥ 9w #1 s T S |
a) 25 b) 75 ¢) 60 d) 59
43 - 45 I WE 40 T a9 F AT B9 1S B B WO B I L | B WE B AT
FIRE 3R w5 % ST ™A |
12000
10000
8000 .

6000

4000
3500

2000

2010 2011 2012 2013 2014 2015 2016 2017 2018

LY

43. fFE 79 I gﬁwmwwﬁwaﬂnwﬁwwmmaaﬁm%ﬁv
a) 2016 b) 2015 ¢) 2014 d) 2013

T 44. 2013 ¥R 2016 ¥ F= 0! 20 AT BT B WM # FoAN S A
a) 1,000 b) 500 ¢) 1,500 d) 2,000

45. 2016 ¥ TN T IS BT 6T WA 2017 B qoA § qfF Frah SR e
a) 150% b) 100% c) 50% d) 200%

< o

d% %1 HAT

; 46-47 P, Q, R, S, T 3R X @meglmﬁwmglqmmﬁm%lx
RETIEEI S, T Hardi &1

46. P = UM #IT 2
a) R b) X 00 d) s
47. frafsfem & 9 =9 ¥ & RaRe o B
a) XS, QP b) XS, OT ¢) XS, RP d) TS, RX
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48-51 A, B, C,D, E, F, G and H are sitting around a circular table facing the centre. A

sits third to the left of C and second to the right of E. B sits second to the right of D
who is not an immediate neighbour of E. H sits second to the left of F. G is not an
immediate neighbour of D

48. Which of the following pairs has only one person sitting between them if counted in
clockwise direction ?
a)F,G b)H, G ¢)H,C d)H,B
49. Who sits third to the right of E ?
a)D b) G c)F d)B
50. Whereis G?
a) immediate to the right of A b) second to the left of A
¢) third to the left of A d) fourth to the right of A
51. Who sits between E and A ?
a)H b) F c)E d) G
52-53 What should be there in the place of ?
52. CONE :ICE CREAM :: BOWL :?
a) Drink b) Soup ¢) Sip d) None
53. 53:477::2:?
a) 55:525 b) 43 : 367 c) 45 : 460 d) 39 : 351
54. Pick the odd man out
a) Shishupala Vadham b) Kiratarjuneeyam
¢) Nishadheeya Charitam d) Kadambari
55. Insert the missing humber
7 4 8 5
19 28
9 12
a) 27 b) 21 c) 28 d) 17
56. One morning Savita came out from her house. She walked facing the Sun. After
sometime she turned to left and walked. Then she turned to her right. After
sometime she again turned to her right. Now which direction, she is facing ?
a) East b) West ¢) South d) North
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> AN

4851 A, B, C, D, E F, G 3R H U% TO&N A7 F 9N R F3 51 oI 98 F5%F 33 ¥1 A,

C % 9l 9N A A ARE F a9 4 g WH WAA X | B, D ¥ W F TR A W
IS T HE F e W R I H, F ¥ 9 iR BN W IIEL G, D W
e Tt 78 ¥ |

48. Traffem # 9 fFa iR % ¥ F90 % =l ST ® Ak =< 9 fan § fen s
a) F, G b) H, G ¢) H, C d) H, B
49. E ¥ T ¥ AR TF W 1 A3 22
a) D b) G c) F d) B
50. G ®El ¥
a) A% 3% e SR b) A % &E IR € T
¢) A F T 3R ey d) A F TE AR A=A
51. E SR A ¥ 99 § = ¥31 22
a) H b) F o) E d) G
52-53

52. ?’ % TE 9 T A1 AME?

54.

55.

56.

HH ; TTHHM o oox ; ?
a) 9 b) T o) fm d) FB A T

a) 55 : 525 b) 43 : 367 c) 45 : 460 d) 39 : 351
T B |
a) Rrmm@aTy b) FRUaSaq o) Fwsfrafay d) FrEFEY

? ¥ TE W HE Heear |l (e |

28

12
a) 27 b) 21 c) 28 d) 17

T GIE Gl 3T R G R g | 98 GA Fl R HE FF 9% @ N | IS o9 91
TE TE AN G AR 9% TS| R T8 ot o o g | 39 9E 918 98 R A ol
T AR G | o 97 T e w1 w6 R

a) T b) ufad c) Tferor d) I
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57.

58.

59.

How many squares are there ?

a) 10 b) 8 c) 12 d) 14

Some statements and conclusions are given. Read them and decide which conclu-
sions follow in the options below

Statements : 1. All cups are saucers
2. All pots are cups

Conclusions I. All pots are saucers
II. All saucers are cups
I1I. Some cups are pots
IV. Some saucers are pots

a) only I & III follow b) only 1I & 1V follow
¢) only I, IIL, IV follow d) All follow

A college wants to recruit a Principal. Many applications were received. But no
candidate is fulfilling all the required qualifications. But the college needs a
Principal on urgent basis. What will be the logical decision among the following
options

a) The college may give relaxation of marks in essential educational qualification

b) The college may relax the condition of work experience

¢) The college may re-advertise the post

d) The college may seek the approval of the competent authority for necessary relaxation
in case of the best suitable applicant as the requirement is urgent

60-62 There are five persons -1, J, K, L, M

60.

61.

I types faster than L but slower than J
M types slower than L but he is not the slowest

The one who types the second slowest types at the speed of 50 words / minute. The one
who types the second fastest types at in speed of 75 words / minute.

How many persons type slower than I ?
a) Four b) two c) Three d) One

Which of the following statements is true ?

a) J types fastest b) K types faster than L
c) I types at the speed of 50 words / minute  d) M types faster than two persons
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57.

58.

59.

e # fraa T

a) 10 b) 8 c) 12 d) 14
TO FUA R Freed Ru ¥ | = w3 o) T = 5 T R o Rreedt § 29 | freey
AT T & |
FE 1. 9t %9 azaq &
2. Tt 7T FY ¥

1D S L & T qEad ¥ IL ff a8 w9 €

L. T %9 Ta9 & IV. T T93a9 9o &
a) IS 1 AR I STFE0T g b) FAF 11 AT IV TE0T
¢) IS 1, 101, IV HT TgaC0T FHed d) Tff  gEw B

TF Fiow HRTS £ @ ¥ A 8 | BE AT W W A | I wE o swfaEw

Wit AETIF ARFATS B T T @ | T TS T THE AR W TE RS

1 & B | fwedi % fiw aiew e = aem

a) IS AT ARF Avaar # =ih F1 T2 3 THa1 &

b) HS FE-AGHT F ArAA H P2 ¥ g1 §

¢) Fforst ug H R & it w2 w%ar ¥

d) oS AR TUYF AHEF F WS § A% 9T F (T FeH MFY B e
U FGEA T FEIE WS 9 A ETaE 2

60-62 A FAEE -, J, K, L, M

60.

61.

L L g as % J 9 iy 2y %y &

M, L ¥ g&1 | i 2, ofFT 98 w=d w46

€ =ARE S 50 W/ F T T HU qI fAw TR 2T FA 2

T =ARE S 75 /M fi T F U g9 I TER oy w4

fFaw =t ‘ 1 | fivl zEy wE

a) IR b) 3 ¢) d) TF
fafsfem § ¥ =@ @ s a9 &

a) J 999 I T Fel & b) K, L 9 oS 20 ¢ ®

¢) T 50 IE/Me F NI A eI HLM & d) M 3 a0 & a7 T FaT 2
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62.

Who is the slowest typist ?
a)l b)J oK d)L

63-65 In the following figure, rectangle represents males, triangle educated people,

63.

64.

65.

66.

67.

68.

69.

70.

square public servants, circle represents people in urban area. Study the diagram
and answer the questions

Public Servants

14
Ll

[ 5\

Educated

Males

How many educated males do not live in urban area
a) 10 b) 4 c) 11 d)9

How many people live in urban area who are not public servants, educated, males?
a)3 b) 5 c)6 d) 10

How many educated males live in urban area ?
a)4 b) 5 c)6 : d) 10

General Knowledge on Veda
Sanskrit and Indian Knowledge System

'Sham No Varunah’ is the motto of
a) High court b) AIIMS c) Navy d) None
How many Principal Sanatana Darshans are there?

a) 10 b) 8 c)6 d)4
The author of 'Kavyadarsha' .................
a) Dandin b) Bharavi ¢) Bhasa d) None

Sambhita is part of
a) Purana b) Veda ¢) Darshana d) Smriti

Mahabharat and Ramayan were respectively composed by
a) Vyasa *b) Valmiki ¢) Vyasa & Valmiki d) None
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62.

o i erEie B &
a) I b) J c) K d) L

63-65%3%%3%3:!’#’,Ww,ﬁwﬁ%@ﬁ,ﬁmﬁaﬁ,ﬁ:@éﬁ%ﬁw

63.

64.

65.

66.

67.

68.

69.

70.

ufdfae Fedl § | Wntm w1 s Bif o) w6 ¥ 3 SR |

Public Servants

1 6) 13

Males

A A\

Educated
feaw fRfeE gow wef &9 § 98 =y §
a) 10 b) 4 c) 11 d) 9

TRl & H Frae 39 e ¥ S o o, Rk, gy w6 ¥

a) 3 b) 5 c) 6 d) 10
Tl 4 # fraw Riftm ww w3 ¥
a) 4 b) 5 ) 6 d) 10
» 3 A o
G, UEFA R YRAE I qUTe1 99 | [
‘o A e FEEET e I (motto) T ?
a) 9 =A™ b) T ¢) AT d) F +ff &

T G 939 FEa 22

a) 10 b) 8 ) 6 d) 4
TR BT

a) afeA b) W c) WE d) ®IE &
e Fea sFRa ¥ 2

a) o1 b) 9% ) A d) =i
HERMIE IR THEY 50 : . % g ™ T |

a) =Y b) ATeHifH c) M R AHIE  d) B TE
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71.

72.

73.

74.

7S.

76.

77.

78.

79.

80.

Match the following

Title Number

A) Veda 1) 18

B) Darshana 2) 6

C) Upanishad 3) 10

D) Puranas 4) 4
a) A-4,B-2, C-3, D-1 b) A-4, B-2, C-1, D-3
¢) A-1,B-2,C-3,D-4 d) A-4, B-1, C-4, D-3

Motto of Doordarshan

a) Sarve Bhavantu Sukhinah b) Satyam Shivam Sundaram
¢) Bahujana hitaya Bahujana Sukhaya d) Aharnisam Sevamahe

Which is NOT an Upanishad

a) Taittiriya b) Brihadaranyaka  ¢) Swetaswatara d) Brahmanaka

How many Shakhas of Vedas are now available in Sasvara recitation?
a) 9to 10 b) 21 to 30 ¢) 100 to 105 d) None

What is NOT Upaveda (applied knowledge)
a) Dhanurveda b) Sthapatyaveda ¢) Ayurveda d) Atharva Veda

Language Comprehension

After a day's long labour, the farmer was ‘weary’
What is the synonym of the underlined word

a) fresh b) energetic c) enthusiastic d) devitalised

The radiance of the sun is marred by the clouds. The antonym of the underlined
word

a) brilliance b) brightness c) gloomy d) beaming

I reminded .............. him that there were no trains after 8 p.m. Supply the best suited
preposition

a) to b) of ¢) with d) None

............ Akbar was ............... great king. Fill up the blanks with suitable articles

a) The, a b) An, the ¢)Nil, a d) None

'Sita will study the geographical conditions of Indonesia next year' : can be written
without changing the meaning as

a) Sita would be studying in Indonesia next year

b) The geographical conditions of Indonesia will be studied by Sita next year

¢) The geographical condition in Indonesia will have been studied by Sita next year
d) None
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71.

72.

73.

74.

75.

76.

77

78.

79.

80.

Fafsiem =1 Rem w3

A) ] 1) 18

B) TIM 2) 6

C) 3ufsg 3) 10

D) gaur 4) 4
a) A-4, B-2, C-3, D-1 b) A-4, B-2, C-1, D-3
¢) A-1, B-2, C-3, D-4 d) A-4, B-1, C-4, D-3
A F EY A (motto)

a) 99 I gfE: b) Taq Ry dew

(¢) TESHRATE TETGE (d) =TefTzi Hare

T T ¥

a) afd= b) TEIRUIF ¢) AdHTR d) TEr

=i F el wrEn weR e # o sTesy B

a) 99 10 b) 21 & 30 ¢) 100 ¥ 105 d) ®IE T

UG (ATTIF T B WA B2

a) ¥R b) ¥ 35 ¢) gAY D) o
T 1 96

After a day's long labour, the farmer was ‘weary’
What is the synonym of the underlined word
a) fresh b) energetic ¢) enthusiastic d) devitalised

The radiance of the sun is marred by the clouds. The antonym of the underlined
word

a) brilliance b) brightness ¢) gloomy d) beaming

I reminded .............. him that there were no trains after 8 p.m. Supply the best suited
preposition

a) to b) of ¢) with d) None

............ Akbar was ............... great king. Fill up the blanks with suitable articles

a) The, a b) An, the ¢)Nil, a d) None

'Sita will study the geographical conditions of Indonesia next year' : can be written
without changing the meaning as

a) Sita would be studying in Indonesia next year

b) The geographical conditions of Indonesia will be studied by Sita next year

¢) The geographical condition in Indonesia will have been studied by Sita next year
d) None
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

'No other district in Uttar Pradesh is as good as Prayaga raj ‘can be written without
changing the meaning as

a) Prayaga raj the best district in Uttar Pradesh

b) Prayaga raj is better than most other districts in Uttar Pradesh
¢) Very few districts in Uttar Pradesh are re as good as Prayaga raj
d) None

Rectify the sentence by replacing the phrase underlined. "The Chief Minister, as
well as his advisers,_have agreed to grace the function

a) have been agreed b) has agreed to
c) are agreeable d) No correction is required

Fill up the blank
How much did it ............... to reach Mumbai by car ?

a) charge b) price c) cost d) value

‘I T F (S T FME ?

a) oy b) qHY ¢) EHY d) fad
‘T T FT TATATH TF T 2

a) U8 b) WE ¢) 3gIH d) 339
‘AT’ T B AT L 2

a) T% 9 b frd®  T=m ¢) TETEA d) S E
T TH A1 & —- T 9799 § FF 61 90 € ?

a) FY b) FH IES d) T2 TE
TR B | TAT T8 R ?

a) 39 . b) 9 ¢) ¢ d) &1

‘ST - T 9 # B 6 Reswe E 2

a) S b) U c) oI d) 3§
REA®' T Fel GEl & T 8 ?

a) AfEa® b) gfefers c) GifEcar® d) arfgcat

Write an essay on one of the following either in Hindi or English in 100 words

fFet oF R e 100 TR § ww ey ot |

a) What do you know about Vedas and Veda Shakhas ? Write.

331 TF RISl ¥ AW H A9 4 S 82 e |
Or

b) What do you know about the institutions working for protection of Vedic learning?

Write.
g foren ufwe # #19  © U ¥ R H o9 A 94 § 2 fofem

Hookk
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85.

86.
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'No other district in Uttar Pradesh is as good as Prayaga raj ‘can be written without
changing the meaning as

a) Prayaga raj the best district in Uttar Pradesh

b) Prayaga raj is better than most other districts in Uttar Pradesh
¢) Very few districts in Uttar Pradesh are re as good as Prayaga raj
d) None

Rectify the sentence by replacing the phrase underlined. 'The Chief Minister, as
well as his advisers, have agreed to grace the function

a) have been agreed b) has agreed to

c) are agrecable d) No correction is required
Fill up the blank

How much did it ............... to reach Mumbai by car ?

a) charge b) price c) cost d) value

‘TEY T F ASW T T E 2
a) oy b) TEY ¢) ey d) fa=y

R AT T R T w2

a) T b) ME c) 3TIH d) ¥
‘Y TR T AL 2

a) TH T9 b frd® == ¢) T d) F=+ TE

HH T WEE —- TH A B oAy ¥ o
a) &g b) FH ¢) T d) I 7=

TR I W T A 2 2

a) g . b) T c) IT d) &\
‘AYAE - 39 9 H w4 W 69 Roemm § 2

a) < b) F0T ¢) U d) 9
HIEAF T4 Tl 98 ®F F91 & ?

a) gfecT® b) |fEfers ¢) TiEcars d) arfecashi

Write an essay on one of the following either in Hindi or English in 100 words

et 7% o g9 100 T3 § ww ey R |

a) What do you know about Vedas and Veda Shakhas ? Write.

931 U eIl % AR H oy o wa ¥ et |
Or

b) What do you know about the institutions working for protection of Vedic learning?

Write.
%ﬁwﬁmﬁﬁm@ﬁaﬁ%aﬁﬁmwm%?%@m
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